
Petrozavodsk Winter Training Camp 2017
Day 3: Japanese Contest, Head of Republic of Karelia Cup, Round I, Wednesday, February 1, 2017

Problem B. Triangle

Input file: standard input

Output file: standard output

Time limit: 2 seconds
Memory limit: 256 mebibytes

There are N sticks. The length of the i-th stick is ai. You want to choose six sticks and construct two
triangles. Each stick should be used as an edge of one of the triangles. Also, the triangles should be
non-degenerate.

Compute the maximum possible total length of the six chosen sticks. If two triangles can not be con-
structed this way, assume the total length is 0.

Input

The first line contains an integer N (1 ≤ N ≤ 105). The i-th of the next N lines contains an integer ai
(1 ≤ ai ≤ 1015).

Output

Print the answer.

Example

standard input standard output
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